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Il (a) Briefly explain the different methe
(b) List the constituents of a good brick

(c) Briefly explain the operations involy
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Distinguish between igneous and
What are fire-bricks ?
What is seasoning of timber ?
List the ingredients of an oil pain
What is bearing capacity of soil %
What is a lintel ?

Define the term scaffolding.
What is meant by pointing ?
Write prismoidal formula to cala uantity of carth work for a single
strip only with explanation of each
Define plinth area.
(10x2=20)
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ying of stones. 6
. State their functions. 5
anufacture of bricks. 5
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Write notes on :

(i) Quick setting cement (i) Rapid hardening cement 6
Define curing. Briefly explain any tw ds of curing. 5
What is ferrocement ? Write any th ferrocement. 5
What are the defects in timber ? | 6
What is preservation of timber' . any two methods of
preservation of timber. 5
Write any five characteristics of a r 5
Give any six characteristics of an i 6
Write any five uses of PVC. 5
Write notes on :
(i) Soda lime glass s of asbestos (any five) 5
Bring out the differences between and Flemish bond. 6
Write notes on :
(i) Spread footing -
Explain the requirements to be sa ‘bearing walls of a building. 5
Briefly discuss.

(i) Abutments

(i) Flat arch
(i) Shuttering and centering 6
List some of the important meterial 5
Write notes on : _ ,

(i) Dove tailed joint ise and tenon joint 5
Give brief notes on :

(i) Bay windows (i) Dormer wi (iii) Revolving doors 6
Explain any five requirements of a | 5
Define the following : .

(i) Hip roof

(i) Eaves v)

(iii) Pitch of roof 5
What are the objectives of plasteri 6
Describe in brief about any two ty] 5
How painting is done on a new wt 5
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X' The given figure is the plan of a residential building. Calculate the quantities of the

following works in standard form.
(a) Earth work exca\'ﬂﬁon ﬁ’f OUNd :ui.q‘j" 6
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Chainageinm | 0 %0 | %0 | 120 |
GL inm 13175 | 13 32.60 13335 | 133.50
The formation level is 134.00 m at all chai
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ges and side slopes 2 : 1 and top

width is 15m.
Calculate the volume of earth work requit g,
(i)  Trapezoidal formula (i) Pr dal formula. 16
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